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(—)X~B(n=3,p=%) , fx(x)ch(%)3,x=0,1,2,3,

P(X =2) =Y ()=

X 31x 3tx3 x13—>< 331tx13—x 1113
(CIM ) =E@*)=De"f,(x)=>e Cx(l) (*) :ZCX(EG) (5) =(3+?e) tell
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@) E[(X =Y)*]= E(X®=3X?Y +3XY?-Y?)

=E(X®)-3E(X*)E(Y)+3E(X)E(Y?)-E(Y*) =0
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(—n=5,%X=3,0°=4" z*:ﬂzﬂzl.w

a/\/ﬁ 2/\/§
p-value=P(Z>Z7 |H,)=P(Z >1.79) =0.0337
(=) p-value=0.0337<0.05 = reject H,
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=yE@E{X| X >k} k=1.4+1.96— =3.153
( {X| } NG

BEAR IR, B C ={X | X > 3,153}
Wi 111~ f =P (X >3.153) = P(X >3.153| 1= 2.645)
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3.153-2.645

2/\/5

=P(Z> )=P(Z >0.57) =0.2843
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Bl as o a2 12 £ 54 FRPS2EHA1 (ANOVA) 42 B
fEi s rd A998 % > HEET1T ANOVA 4 ¢

F3 KR df Ss MS F

&b (A) (D) 0.222 (G)

B (B) 60.667 (F) (H)

S (C) (E)

B3 72.667
(-) %+ ANOVA & (A) 2 (H) i@ - (84)
(2) &3- F£a=00527 » FRFTFe 63 FSBEI0AE LTI HFLE? (84)
(2) &3 -FLa=00527T » FREZFHFALZBI PP FHTHAZILTIHFLE? (9
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:

()
Source df SS MS F
Ty (A)3 (D)0.6666 0.222 (G)0.1175
HhlE (B)2 60.667 (F)30.333 (H)16.0577
Ve (C)6 (E)11.334 1.889
HEt 11 72.667
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@HI(—)ANOVAZE T4 » F =0.1175

®a=005 C={F:F>F,(36)=4.76}
F"=0.1175¢C * don't reject H,
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@H(—)ANOVAZE T4 » F* =16.0577
®a=0.05> C={F:F>F,(26)=5.14}

F*=16.0577<C > reject H,
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(2) % p 735 (estimator) ik :5 & 0.253 » 4 4 1 95% G % A - (10 4 )
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:
(—)X=3,y¥=4 - SS =Y (x-X)° —Zx —nx° =
§S,, =2, (% =X)(y; - nyI nxy =9

SS, =2 (y;i-¥)’ = Zy. -ny’ =1
SS 9

XX

BRI Ty = J55.55, <o
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~ SS 9
N e B
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()t e (3) = 3.182

8B, 005 (3)xS(f) = 0.9+3.182x0.253 = (0.095,1.705)
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